Mock-MATH12 T1

Mathematics G12 /90 Minutes

ADEC MATH Thanaweya
Trimester 1 Mock Exam

2016/2017

Requirement:

Ruler, pencil, protractor, blue pen,

scientific calculator.

Read these instructions first:

— Complete the box above with your
information.

—  Write in blue pen.

— The paper consists of 4 questions in 10
pages

- Read each question carefully; attempt

every one.
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— The total marks for each question is inD ALY ) Jgeasll sl Chd iy —

— Show appropriate working to arrive at
your solutions.
— Diagrams/shapes are not drawn to

scale.
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Question One

1) This section contains 10 multiple choice questions (A to J). Each question is worth 2

marks. Choose one answer only

A. Which of the following statements describes the end behavior of the function f(x) ?

o

o

o o T

lim f(x) =—c , lim f(x) = —o0 y
X—>—00 X—00
lim f(x) =—c0 , lim f(x) = o0
X—>—00 X—00
lim f(x) =—c0 , lim f(x) =00 0 X
X—00 X—>—00
lim f(x) =c0 , lim f(x) = oo
X——00 X—00 m
B. Which of the following functions cannot be considered as exponential function?
1
y=0)"
y =@
y=(2)
y = (0.3)*

C. Which of the following is equal to log, x =y ?

a
b.

o

cx=7
y=7*
x=7logy
y = logx”’

D. The transformations taken place on the function f(x) = x? to become g(x) = x? — 1

is?
a.

b.

Moving vertically down by 1.
Moving vertically up by 1.
Moving horizontally left by 1.

Moving horizontally right by 1.
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. The solution of the exponential function 272Mm~2 = % is?

a. m=-3
b. m:Z
3
1
C. m=-
2
d m=-2

. The equation to find the volume of sphere, v(r) = %nr3, is consider to be?
a. Radical function

b. Constant function.

c. Radical exponential function.

d. Monomial function.

. The zeros of the polynomial function p(x) = x(4x — 3)(3x + 2) is?
a. 0,-2, 3

—4 3
b _’0’_
3 2
-3 3
C _’0’_
4 2
3 -2
d =,0, =
4 3

I fx) = x* — 3x3 + 5x — 3 what is the value of f (_2) ?

b. -21
c. 27
d. 37

Which of the following is not a solution for the equation x3 —37x —84 =0 ?

a. -4
b. -3
c. 6
d. 7



-1
J. The value of (125)3 is?

a. -5
b. — 1
5
1
C —_—
5
d. 5

Question Two
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2) In the table below, identify if the functions are continuous or discontinuous at the given x

value. Identify the f#ype of discontinuity if it is of the infinite, jump or removable type.

Function Continuous or Type of
Discontinuous at discontinuous
x=1
() = —
fx) = x—1
(x) = { 2x+1;x>1
X =1 x2 x <1
h(x) =Vx+5
o) = x2 -1
X = x—1
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3) Without using calculator, find the value of the following: (show your working)

A. If In2 = 0.69 and [n3 = 1.1 find the value of In1.5:

4) The number of fish in a lake can be represented by the following function:
f(x)=-x®+24x> -16x +384

Where x represents the number of years since 2003.

[3
A. What was the number of fish in the year 2003? EEE r"’
[WTatal J’ \\

con / \
4t \
29 /"’ \
greatest? What would be the number? 0 /
............................................................... saof— A \
A0 _.-_0"- \\

o i s )

B. In which year will the number of fish be the

O T Y

Ul

------------------------------------------------------------- G Tatal
2y

LAl 2 4 B
FARY
A0

16 18 20 22 M

C. ldentify the year when the fish will extinct from the lake?



Question Three:
x?=1 1 x22
19 | 5)1F g(x)= o f(x)=1-¥Yx
)1 g(x) [x] : x<2 (x)
A. Explain the reason for the discontinuity of the function g(x) atx =2 ?
What type of discontinuity is this?
X 1.9 1.99 1.999 2 2.001 2.01 2.1
g (x)
B. Find [ fog](3)
-1
c.ring T (%)
/6 6) Use the graph of f(x) given to draw the following two functions:
3
A g(x)= -2 f(x) +1 ) ’
B. f 7 (x) 2
S ) B T T R B
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. The least power for this function is: ..............

B. For (x) , the relative minimum values when:

7) The graph represents the function, f(x). Fill in the gaps below to complete the sentences.

o
A0
=0
57 f
A /
A=

L=

\

KE/H’

N\

b W
o M O

. There is an Absolute value for the function f(x) when x =

.............................. (maximum or minimum)

. The function f(x)is ................... (even or odd or neither)

. The decreasing intervals for the function f(x) are: ..................coooii .

And the type of it is

H. The rate of change for the function f(x) for the interval [-2, 2] is equal to:
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Question Four:

8) Using the following graph which represents the function f(x) = 2x3 + 3x%2 — 11x — 6

14!
12
10
8
6
4
2
09 87654 p 2 4& N R R B B N TRV
-6
-8
-10
-12
Find the
following:
A. The range: ...cciiiiiiiii
B. The End Behavior of the function f(x): ..cooevirimiiiiiiiiii e
C. The rational zeros for the function f(x) @re? .......c.ccveiiiiiiiiiiiii e
D. Find all the real factors of the function f(x)? ....c.cccviiiiiiiiiii e
E. The remainder of the division of the function f(x) by (x — 1) is equal to? ...............
(x=2)(x+1) _
If = ——— = find:
9) f(x) (x-1)(x-2) I
A. The domain of the function? ... ... e
B. The equation of the horizontal asymptote? ...
C. The equation of the vertical asymptote? ...
D. The intersection points with the function? ...
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